[ Efficiency vs vertpos |

-
o
o
(]
>
»
>
>
o
c
[

)
=
)

Ratio

0.4

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02

0.0

1.0

o
©
a

R ZMNRLS RRRIRRRRN RRRRE RRRRN RRRRS RALRN RARAERC.IAN RAARE RN
"

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit_baseline

— —e— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
Efficiend

~ 0.1
20.09
n
>0.08
>

5
c
o

3}
£0.06
(7}
0.05]
0.04
0.03
0.02
0.0
Vel

Ratio

—— DQM_V0001_R000000001__Global__mkFit_jcorelOmaxCand-24DUPremoval-1000

0.07

[y

=30 -20 -10 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

>
2 0.09

£

50.08
20.07
o)
20.06,
@
(&}
£0.05
()
0.04
0.03
0.02
0.01

1.0

Ratio

0.952

=
T
i

20 -15 -10 -5 0 &5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


